4 P v <4 v
A 4 v Y|
° “ 4
¢ .- Siemefilwied ,

& SPEW ST 2_(HEUD GUL L LOMGLD; H&IGLITeD, L& Sipel
FHlevoro 2_(Heub GsHmemom@L. - Wsnamen

siee&ennevongfluimemens Csibhg eammmer (Heron) &b
HCrs5s6 sHeflly Coemg Spyeuni. eud SHewoflHD,
Suihglredwied LHMID SuIHLTILIEd OSTLITLITEOT LjSHS 8 ki semelr
erdlwerenmy. @eun g QwLiflem (Metrica) eteorm LiTLeoLomeoT
Usssld CoeiTn 65M&Hsemens esmeiorbeTeang. SbsLl
LSSSIONE0TSH| H6T LMHMID &H60T 2 (Heurkiserfledr LFLiL LoHmILD
& 60T SI6TEY & 6W6ITE &600TSH & (bLD eULPl( 6w & emar 6ileTSH & &M &l
WM (PEHECHTETIHH T CPTD LHS SieTeySHET STLILILL 6D
SipeoT  LUTLlemeTs  SHetoLMlLD  SHSHSHIHMS QI medT

elemrmedT
(B.19(eun.sy.) 10-75) eUHeNSGHI6Ten.

©

&
S w&Ganemwiiser LOMIdD BIHeIRGeflEr UIlemU  e@mmmeot
G S5HTSHeMSLI LILIGITLDHS SIS &60015E (bS6D.

S seTEaseleusD LOMID SHOTFSFHTSHS 0T GOMSHSL LUDLUTLL, L&SSL

Ul LOHMID SHE0T SieMe) SpSIeUHEME SHT6ToTED. FHI-'II:E{ -

71 aflpsd

LebGeum) eUemSWITEOT ellq6XILLIEd 2_(Heurhi&erfledr LTLILIeTe) LoHMILD &H60T Siemey&emerLl LnmLl
ulesanigw seoflgpl Uifley senelwed ereoriiubdng. efifleunssd &nmCeustorbeloenfled &
sieTelL . (b& O1FWED(WPemM&EET LHIILIZ] ShGSLD.

sieneflweonenTd HLLLE &Hemey, WIHSHFIOUD LMHMID SHL(BOMEID SR Hewmaarfled
LWL DG Sereliiemend SDLUSHET cpeold @b Lflomesor 2 (peurni&arfledr smmerne| hHmID
uTLiLeTeneNs STEUTLUSDHSTET  GFoHHomeer upml Siflw  quod. GCoeid  wluflomesor
2 (meuraiserfleor UoUurly Wwhnid &e6r Siereysenerll upmiwd il (wpiqub. @bsl uGSluiled
BID  (WHECsMevohi&Gafledl UTLUL&HSTEOT 6QDITeT &HSHHIOD, HEOTFOF6IEUSD  LOHMID
HEOTFFHITMHISHEBHSSTE0T LMLUILITLIL] LODHMILD &60T SiemeysemenLl Upmls &né SwmsaSGmib.
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BTHSILD, (P&BETevord GUTENTD eiqul H6T 2 _[HeuSH enienL Ll eTeoemeoullsdr HerHens ereueumm)
SiMPSHFHEDD? ETELEMEDSHEET SeMLLLL LGS ulledr Siememed ereueunm] SienpsSEGmmb?

eungeuns, (WeHGasneoorddHledr umLiLeTeuneTs LleTeublo &SHTSHMSL LILIETLDHSH S
&600TSHSILLILIb &M &l.

1
(W&Bamevurd et LITLILIETEY = E X 2QUUSSID X 2_WITLD FHIT HEDESSH6T

1 . A A
signeug), A= 5 Xbxh &I S160&6T ;
@n®, b wohmb h eredruewT hi h
WwemmBw (p&B&meoorHHleor il LILSEHLD '
. . . . ]
LHMID 2 WITD Sh&SLD. 5 5 C B_I - >
Qm WwsGasneaugdler  SiqlUSSD UL 7.1 ULt 72

LOHNID 2 WID (STeUF &SSSHIWITLD)
E1&M(b&HSLILILL 6D, SiHe0T LTLILIGT606Y 6T6U6UTN)| &HT6ToTLIS) 6T60TLIEmS GLoma&etorL &S &S eblib s
ainlw (I AmG.

7.2 e@nIner &SH b (Heron's Formula)

o wmb eFfWNg SHeoTned CP6TM LSS SeTeysHEbp 6sflbe b
(P&CoHMetorH S 60T LITLILITEmEN 6T6UEUTM)| SHT600TLIS)|?

@eueummreot, R (PHCHMETIISHSI60T LITLILIETEMEN 6TEU6NTT)| SHTET0TLIE)
STOTUSDSNET GrHETHEWS OQUDITEOT O\ST(HhSHIETET.

e
F8.J6LEK

A
a, b opHmib ¢ eTedTLETT QB WEHBsHTETIISH 6T ceTM)

U&&hISET eT6ufleD, c b

W&E@aMeoorH 60T LTLIL6TEY = \/s(s —a)(s—=b)(s—c) &

at+tb+c ., . ) o .
@B, s=——, ‘s erettug) (W&HCaMetoIS 0T SeMTEF

&mmeney (semi-perimeter) sigmeug) &nmenedled LTS S @Lb.

SmILL

Bii@ CPTN) LSSRISGEBD FOD 6T60T B 6T(hSHEISHESTETOTLTED, diBMeus a=b=c erevfled

QaDITer gGHHILLY (WPeEEHTETTTHSle0T LITLILIGTEUTETS) Taz FHIT SNOGSGHET 6T60TSH

HewLsEDE. 88 Qb FOUSS (P&HEHTETTTSHSHE0T LITLILIOTEY ShGLD.

. TOSHESTL(DH 7.1 I
Q0 W&Gsmevor aulgeu euwedlelr L&E Berhiser 28 15, 15 15 whmib 41 15

eTeufled euwIEdledT LTLILIeTEm6EUS SH600TSHE (b, GLOAID EUILIENEDE FLOLILIbSS QI F&IT WL LHES I 20
615606UMGLD 6T60fl6D, QUILIEMEDEF FLOLILI(bSHS SHGLD CUDMTSHSHE E1F0EMEUS HEVUHSE (b .
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Siey
a=2815, b=1515 wpHmb ¢ =411 eredrs.
at+b+c  28+15+41 84

@0CBuns, s= — =42 5
o 2 2 2

(W&EB&mevor 6uWIedledT LTLILeTe] = \/s(s —a)(s—=b)(s—c¢)

= \/42(42 —28)(42—15)(42 —41)

= J42x14x27x1

=J2X3X7X7X2Xx3x3x3x1
=2X3X7X3
=126 &5

1 815 euwemend FolILbSHS A& ageey = I 20

126 815 euwemend &oliLbSd A& egeey =20x126 =T 2520.

. spiet oo I
SbSGSEML b Qf 8Lsdle ewetn CaupulL (p&Gaomeoor eulgeleonet 651k LEDEUTSHET

ellhuemeoTée 2 eTenenr. eeuaeumedTnId 120 15 &HMeTe] QSHTEIITLEMEY. HeMEU 661616 6ITI 6T
UsS BEThIGET 6186 (h&&SLILIL (HETETEDT.

efi b emeoTull6dT 6UIq EUD &Hmee)y U&& [Bemrh el
618G Mevor (L& B&MevuTLD 120 15 3015, 40 15, 50 15
SNIkiGameor (p&B&mevord 120 5 3515, 40 15, 45 15
FOUSS (& B&Mevord 12015 40 15, 40 15, 40 5

@ded aifla @LUUTL 6O&TeoTL 65 (b LDEMEDT 6TG| 6T60T (IQ6) QFWILI UMTRIGUEIHHS 2 6N

QFIG.
Siey
QBM(bSBLILIL(HETEN S6T6YHemend GMH@SL 2 _HEALILLLD 6UEmTWIEDTLD.
A A
A
9 s ) =
= « & ® &
(]
on
B 40 18 C B 40 18 C B 4018 C
uLLb 7.4 uLLb 7.5 uLLb 7.6
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(i)

(ii)

30+40+50
uL 7.4 @edb 2_drern (P&BaHMeUTTSHH 60T SIeMTF SMHMETEY S = — =605

354+40+45
uLLb 7.5 8eb 2_sitan (p&HB&HMe00THH 60T SlemTE SFNHMETEY § = — =60 15

40+ 40+ 40
uLLb 7.6 @ed 2_drer (p&BaMeturSHH 60T SemTF GMHMETe] S = f =601

BiiE SMETHG JNeWTEF SHMETEYLD FLOONS 2_6TenedT 6TedTUE GSUILIL HSH&ESE).

D60 &,SHHTHemSLI LW6TLI(bSS! (P& EsmevorsSleor LITLIL]

LLD 7.4 @b 2_eer WéGameursdlesr Ll =+/60(60 — 30)(60 — 40)(60 — 50)

=/60%30%20%10

=/30X2%30x2%x10x10
=600 152

uLb 7.5 8eb 2_eiten (1p&@&mevorSHHedr LT = \/60(60 —35)(60 —40)(60 —45)

=J60x25%20%15

= J20x3x5x5%20%x3%5
=300v5  (geerefled /5 =2.236 )
—670.8 182

uLLb 7.6 @eb 2_drer (p&@aMevorsHleor Ly = \/60(60 —40)(60 —40)(60 — 40)

= 60%20%20%20

—3%20%20%20%20
—400\3  (geerefe /3 =1.732 )

=692.8 15 2
@ii® &hmerey &owns SbhsELTS eI, cpeitn) (wéBamevor aulg.elleomer 65L(h Loemeorulleor

ugliuereyset GeueuGeumns SpLLenss Smeoor (WiadHmg. Seupmled ULD 7.6 @6d 2 simen

W&BanevorsdHledt LTLiLTeT g whneuHennelL sifswns o _dreng). Seueulqeleoner 65L(h LOEm6OT

eUNMThIG US| SiHle SLLULTLienLS SIHLD 6TOTLSTED, CUMTRIGUU[HSE SGementLl LIflhSIemiT & 60D,

AN
Smlly i

FLOLOMEDT SMHMETEYEMLLI 6T6DEDNM EUEMSWITET (W&HBSHMethiGefled, sousHs (WeEG&meoor@L
SifsLomenT LTLienUs 61&TeooTg (hH&LD. & aSMLTumeT LBLIeL@® urliueTeysemert Luhm LD
2w eu@Lysefled sH& ©_em@armib.
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7.3 BID&Ihi&efler LUTLLsemens SeiorLSled QDT & &S TS 6ot
uwestum (Application of Heron's Formula in Finding Areas of Quadrilaterals)

BeoTd® CaHM(hS HIETI(HhSHEMTED HWLLGBD 6(H HET 2 _(HEUD
HTHSILD 6T60T AHWPSHSBLILIbHME.

ABCD erettuIg) (5 BTDHSILD 6T60T&. (B HMH&T HS160T LTLIemLIS
SM600T, SHS BTN ST Hewd BT 6vor(h (P&HEHMevoILl LGS sHemnaLl LN &l,
EQDITE0T GSHTHeMSLI LIWETLI(bSHS b (PpSHEeHMevorl LS &arfleor
urliemud &mevor Beuetor(bhLD.

uLw 7.7

uLb 7.7 @edmh&l,

mna&Io ABCD @eor ugliy = (w&Gsmevond ABC &eor umiy + (w&sBsmevond ACD &eor L.

ThHEBBMLED 7.3
o33 L efleusmull @eul smMissIT eulgelleonsr HleosHems emeusHgeTari. Hibs

Beos et sbmerey 4005 wHMID iH6TT Q@ cwemevad L et siemey 12015 p&b. Sretor
eeueuGeum) euemswnent smiusmseneril LWL sieud Hleosensd @ swuGdHaeamsll iflesHnmT
eT6ufled SibG (L(LR Fle0SHH0T LTLIENLIS &T600TS.

Siey

ABCD er6dTug)| 6(H SMLUSSITLD 6T60T5.
1G60T Gmmeney = 4 X ussd = 400 15

2586y smlssITSH60T eeuaeum(h &S 100 15 S &Lb.

@i, cwemeadLib AC = 120 5

AABC &eéd a =100 15, b =100 15, ¢ =120 L5 erevfleb,

a+b+c_100+100+120
2 2

=160 5

SMIF &OMENeY S =

AABC @er umily =+/160(160 —100)(160 —100)(160 —120)
=160 % 60 X 60 X 40

=\/40><2><2><60><60><4O

=40 x 2 x 60 = 4800152
2&Gey, smisgT Hleow ABCD &eir ugiiy =2 x AABC et ugly =2 X 4800 = 9600 152
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@ LA 7.1 )

1. eapgmer &GHSIHTHMSI LWTUGSSI LNOTeUBD LSS SN6TEUSHEM6TSH  61&HTEUTL
(W&CamevurddledT LTLIemLS &HIT600TSH
(i) 10 @&b, 24 e&1b, 26 es5  (ii) 1.8 15, 8 16, 8.2 16

2. QO WsBasneoor auge HleodSHeir LsshHIs6T (PemdnGW 22 15, 120 15 wHmb 122 15 erevfled
auWIeOl6dT LITLILIETemEUS SH600T5HE (b, GLOGYID euIEnend FLoliLibSs 6 F&IT L (B&5E T 20
QFe0EUTGLD 6T6ufl6D, EUWIEmEDE FOLILIbSS HHGSD QMSHHE 1FDEMEUS &H6T0TSSH (.

3.  Q Ww&Bametor augeieone weneTulleit smmeney 600 5. sigedt LssmigeT 5:12:13 eredtm
fs5Hl6d 2 _eiterenr erevfled SibhG LOem60TUNEOT LTLILIGTEmEUS &HIT600TS.

4. 180 @&15 &mHmeey OSMETIIL Q(H FLOLSS (W&HEHMETOSH 60T LITLILISTEm6US SHT6T0Ts.

5. 8w swuss (pisGamevor eugeleierer 6@ elemburll Leenssuledr &nmerey 36 L5 oHmb
SIBE0T QEUCEUM([D FLOLISS S S 60T [HeMD 13 15 i GLD. & EU6TITET0IID L& 66 FSHIT L L (&S

X 17.50 6fisld 94@LD O5606mEUS SHMTET0TS. C 42 08

6. ULSHH6d HlpedlLuLng uGSluledr LTLiemLs &meoors.

7. AB =13 a&5, BC = 12 e&d, CD = 9 e&5, AD = 14 e&d
SyEweuHEmDL  LSHSMHISETTSHELD BD = 15 e&f g
cpemeailLLLon&6 D 6\&metorL. BmaIo ABCD et urlienud
SHITEO0TS.

8. & Whsreurerg mrhHer ageilaererg. Sibsll hsralear uss sereser WwenmGul
15 15, 20 15, 26 15 wHmID 17 15 wHOID (WHed STetoih LUsHHhRISEHSHES SemL Bwiwjerer
Ganevond QFhHICsHMevorDd 6reufled Lyhismeiledr LTLIEmLS ST60Ts.

9. & Ifleowners smiusgsT eugeied 2 ereng. HleosHlenr &nmerey 160 LS HMID SIH6T (B
cpemevell L SHleorT sianey 48 15 erenfled Sihs HledSHH 60T LTLIEmLS SHIT600TE.

10. gF Qeneniarsdlen Sibdsbds Lbshsefler siemeyser 34 15, 20 15 wHMID BT Q0

cpemeell L S&ler Siemey 42 L er6vfled Sihg Qemev0THIT&HH 60T LTLIEmLS &HT600TS.

7.4 SHE0TFEFEIEUSID LOHMILD &60TEE &M S 60T LmLILITLIL
(Surface Area of Cuboid and Cube)

wiuflonesor  (3D)  eugeuraisemens  upnl  SyTbL  euGLIYSerled

SOOI HSEHCOILD. (LP(LQEUSILOTS 6(IH HETSHH 6D HEWLOWIMS 611 6UMISH6IT (WLILIflLomevor L
QU EURIGET SHGLD. eThGeleuTH (WPULFlomeoor eulqeuD e, S WHMID Oy :“:'
2 _wimib 6T6dTM EPEdTM) LIfLOMET0TThIS6m6iTd 618 ME00TIY.([HEESLD. F8T2N8

sinafiue) | 267 I



7.4.1 seanFageaeusd HMID e Uouugly (Cuboid and its Surface Area)

HEOTFOFEUOUBID : QIH HEUFOFEUUBD 6T6ITLSH M| 6\F6u6us 6l efleonesr SerliLGH sermed
SIMLLUGD QB apigul  letoio 2 _[HauDnELD. Slewlly, 6&Hh&He, USHHD 6redTLeoT
HEUTEFFEIEUHSHHDGHE Fl6D 6T(bSHEISHML(b&H6IT:

QM STFOFeIIHNETH 6 Wemser, 12 efeflbyser womib 8 2 _&dlsemens
Q15 M600TI (HSHGSLD. QLITFHIEUTSH, HEOTFEFUEUSHONETEH F6U6US 6UgeULl ALLIGUIET SiemoLienLs

61& 60T ((HSHSLD.

I(hY::In)

QI &HETF CF6IEUSHSSIET CNHSLILTIL SIS
eonssliynuurli (Total Surface Area-TSA) eredTLS SiHGHs
HEOTFOFAUHHEWS  COIGUETEN  SIEWEOTHE  (WPSHMhIserleor
UL s6rfledT Sn(bG6d S&LD. @O HHGI H60T&65616US S SH 60T
Goed HMID SigliLsEshHisefle LTLLSeneT HHGSLOLTQE
HemLé@D urliuneorg ussiugl (Lateral Surface Area —

LSA) ereorliup@ms. ofafliby

uLtb 7.10 &ev I, b wopmib h sydwienr (wemmGui Herid, 7o
SISHE0LD HMID 2_WITHMSHEH SMISHSH0TM 6T '

(i) serdaseucussdler euwnssiumiy (TSA)

Guoeb HMID Siqll usSHGefler ugiy 2 X Ib / |

(pedT LHMILD N6ITLISShIS6r60T LITLIL 2 x bh

=

8L g wHmIb eueng) ubsmseafler Ly 2 X [h ‘

=2 (lb+ bh + lh) egm s0GSET.

(ii) seraFeueussHeor ussIuTiy (LSA)
UL 7.10
(pedT LHMID WledTL&Shisefler LTLiL 2 x bh
8L g wLHMID eueg) Lbssafler ugiy 2 X [h

=2 (I+b)h sgior 0@ H6.

s eumpedlwed Hapeysefled HMD ewrssliuriy (TSA) wHmid ussiumiy (LSA)
AW B(HSHGHEMETLI LW6TL(SSEGDMD. fleuei@eum) Herib, 2&H60LD HMID 2 _WITHems 2 6mL L
HETFEF6UEUS 6 6NE0TET 6T SWMEMI 6T(hSHHHOHTETEEUND. SHSH SeMMUNETT HEWIT SHFHETLD
womib GCuhemenTenwd SeNisHssF &euiseafledr umgly WLLGLD HOESS CHemeuawssfle,
ussluglenud (LSA) smevor Geuetorpld. B&EE Stemmuledr (WQUUDLILTLIEHUWD  &Tevor
Beuetorheenfled GuonsiLmlienusd (TSA) seoorébHL Geustorbib.
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Q0 HETEFAF6U6SSS 6T Berid, Sige0ld HMID 2 wirb wedn@w /, b wHmIb h erevfled

(i) ewngstugiy =2 (Ib + bh + lh) sgir s0@&se6r.

(ii) usstugiy =2 (I+b)h s&ir S0G 6.

AN
Smlay i

° QI SHEOIFOFEIISHSST GLUsHS WOMID GuHussLUTLL&SeTTETEH 2 WrsCHMb

OBMLITL6mL WISED6D. Siq L& Hmd GmHussLILTLIL&erler &nbsed 2/b Sy &b. smeug),
ewnsgriugliuner 2(lb+bh+1h) @edmng 2[b @ B&8 HL&HGL USSILTLIL HenLSHESLD.

° QI SHTFasISSSET LUDULTLINeneos SeoursbabUeUn(Qs a&nbesslulL  Her,
Si&60lD LoHMID 2_wITSSletT SiemeyseT T SlevGsafled B meHe Ceuetor(hid.

ThHRBBMLG 7.4
053 u QM SHaTdagalassHer Herb 7.5 15, simeob 3 15, 2 wmb 5 15 erevfled

SiHE0T QM SHSLILTLIL LoHMID L&SSLILTLIENLS &T600Ts.
Sirey
@@ seoré aFeueusd e Hembd (1) = 7.515, aimeod (b) =3 15 wHmID 2 wimb (h) =5 15.

ewnggiuriy =2(Ib+ bh+ 1h)

=2[(7.5%3)+(3x5)+(7.5%5)]
=2(22.5+15+37.5)

=2x75

=150 152 7.5

UL 7.11

ussluriy =2(I+b)xh
=2(7.5+3) x5
=2x10.5%5
=105 182

TOHHHSNG 7.5
053 . e siemmulledr Henib, Sis60lb LHMID 2 wirb WewnGuw 25 1, 15 15 oHmib

515 o4@L. iemmulledt 6w HMID HTETG GeuTsHemenyd LgIlss 1 sar Bl Lmse T80 eigb
615606) ShGLD 6T60fl6D, QDT HSHE O1FDEMEUS SHIT6T0TE.
Sirey
@i siemmulerr Bemd (1) = 25 15, siseod (b) =15 15 wHmId 2 wimb (h) = 5 15 eTeiTs.
BT Seuiserfledr UTUY = SHeTFeFeueudSHdleor UsHsL LT
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=2(l+b)xh 15 1§

=2(25+15)X5

=80x%5 =400 &5
semgulledr umly =[Xb

=25%15

=375 &1

515

H&IlN&se Geuetoriqul LGSufleor LTLiL

= (BreoT® &reudserfleor

LIy + semruileor LTLL)
=(400+375) =775 &1
1 ggm BLL®BSG I80 650 iemmenwil 4gI158 &L onsss ageey =80 X 775
=362,000

7.4.2 serFsgHID HMID Sigeor ypiuriy (Cube and its Surface Area)

sarssgID (Cube): Hemb, Siseold WHMID 2 WITD HHUI ANWETHSHID &IOS 2_6T6T (B
&e0T56015616UHELD, HETFSHITID SWpGD. ASTEUFH QD HEOTFFHITIONCTEH PN FHIL LSHSRISETTED
SieWLLULL Fl60uTolD S@LD. HETEFHITHISHEHHEF Fl60 6T(bSHISHH ML (HSHET:

@

LU&H6mL&H6IT ueoflé &L 1q el FIHHMISH HL LG H6IT
UL 7.13
HETEOFEUEUSHSHMSL CUTDC6Y, HEOTFFHTULD 6 (P&HMmIGET, D C
12 efleflibL &6 LoHMID 8 2_&&lGHemend 61&MevoTlq (HESLD. A B

UL 7.14 @6b 2_eTaTeunm)| a HOGSSHET LisE 66 G\SITeToTL
Qb HEOTEEHITHWSHS HHSHICaund. @ueun(ps

HEUTEEHIT S 60T CLOM SHSLILTLIL H G
= (ABCD+EFGH+AEHD+BFGC+ABFE+CDHG) E

uLb 7.14
&AW (Wpsmserfleor LTLiLserfler s (bsed

=(@*+a*+a*+a’*+a* +a%)

= 6a* &GIT D& SH6IT
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(iii) senéegnsSletr ubsLLTIL
= (AEHD+BFGC+ABFE+CDHG) sp&w (parhiserfler ugligerfler & (h&ed
=(a*+a* +a*+a%)

= 4a” &I JDSSeT 0]

—— — 1
6D HEVTFFHITHS60T LisdH 66 d HEDSSH6I 6T6utleD,

SBHE@IL 60T OSTLILEOLII SH60TF

g a_o o _ 2.2 g
(i) ewngsliumiy (TSA) = 6a” 5T S0GS6T OseIaBSSET GESIhismeTs

(ii) wsstumiy (LSA) = 4a? egir si0G&6T 61616001 Sb&HE &S ST ThIGEDEITLI
6Ium (LpLqujLom?

THHHBSMLEG 7.6
033 o 5 685 UsES ieTeYy QBN SHETEFEHTSHIH T GoMSHSUILTLIL HMID

USSLIUTLIENLS &HT600TS.

Sirey
BOTEFHITHI 6T UdHS emey (a) = 5 agid *a
©
ewnssiuIy =6a’ =6(5°)=150 &.088 ok
udsiLTlYy = 4a” =4(5°) =100 &.6&8 567@@

5 egd

UL 7.15
TOSHESNL(H 7.7
b33 b QI HOTFEHITSIH60 QonsHsiypiLTi 486 65152 ereufled SIFHedT LISSHLI

UTLIemUS &IT600TE.

Siey
@i awnssiyniugly = 486 a&L52
486
6a° =486 = a2=?, =81 = a=9

HEOTEFHITHIH T LSS ey =9 61815

saTEEHTSS6n ubsiUTIL=4a’ =4X9° =4Xx8] =324 aas?

TOHHEBM(H 7.8
b33 o 7 68f uss semeyeten @G rHifliner SIetoih &SHEOTESHITMRISET

QEOTMILEIT QETM LSSHEUTLI0 BemetorsmaliLnbbEUs SlenLé@ld U He0TF6186)61855 S5 60r
QULOMSSLILTLIL LHMID LSSILTLIL Sh&eUDemMS &HIT6T0TE.
Siiey
HEOTEFHITHIH 6T LSS 66y = 7 61815
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wHNID ChHeneMT&HE Cl6UETEDETILIGSES G FHT UL [HS&I8.50 6isb Q&b LTSS
QFDEMEUSH HTEO0TS.

4. SpéeEMamID LSS SeTEDENH OBMTETL SHOTFSHIIhSa 60T QMTSSULTLILY LoHMID
ussLIUTLemUS SMevors. (1) 815 (i) 21 egf  (iii) 7.5 &b

5. (i) o saréeansdler awnsalimliy 2400 a&s? eeofled, 56T LSSLILITLIEDLS &T600Ts.
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7.5 He0TFE5EIEUSID OMHMILD HEOTFFHIT SHSH 60T & 60166
(Volume of Cuboid and Cube)
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100 1960 op@w. @uugiu’r 100 6dl siemeyeiter

THHEME  GEUHETHEDETSH BT Qb ndleney DIV SHEOTEFHIITLD:
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Cueib @UuUlILLL T5FHNET FnEMHHNETSH ST QU eunafleww HITLLEMD erers

—
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I
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sflunisseyb. B&Ceu 2iHs eunefluledr O&HTeToTENE) SiELEDH HEUTiETE] AHGSWD. EHBUMTED
THSHOCUTIH EILMHETEIT HEOT SIETEMEUL|ID SIEDEDE CISHMETATATENEULILD [HLOLOMED & 6T0T&H &SI
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SHemLLILSTSLD.
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3BsEGLEUTE @& &HaTFaF6I6NS  6UIqEUS

sLL1& mm@Eng. @me h weon [b syeorg
HETEOFEUEUSHHENS 2_(HEUTSHSHME uLb. 7.18

7.5.1 sarsasaleusddlen seor slemey (Volume of a Cuboid)

Qb SHEOTERF6UEUSHSH 60T HEND, S1S60LD LDMHMID 2 _WITLD
wemnBuw I, b oHmib h Sie0&&6T 6T6dTS. LIS,
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S
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sieTe&eT GT i@ s6fled BH&s Geustur(hld

THHHHSTL(H 7.9
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10 as5 womp 8 656 @Gy seteyser asmetL 10 seTSaseIouSHISENT H60T SETENEUS

HT600TS.
Siey
@ni® Siseb HMID 2 WIoners eF6ry L Lfled 9
SITUILIL (bETETE0T. ShemBIITED HETHemBHWD 61&60Tq L5 L fled % o
LOMMHMEDLD. ‘é’
120 12 &1
@I’Fﬂ@, =120 1816 = W =12 Q&LS, b=10 Q&LB, h = 8 agld uLw 7.20
&b HETEF6UEUBSH 60T HeoT demey =X bxh
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= 960 asi5°
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9600 o’ O
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aFsuausb 120 Q55> &Heor ety
©_6mL WI6DT 6T6vfled, 6eleleumeoTIianID
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x = Y8x8x8

x =8 e&b
HETEOFICUSSHS6T Hemd =7x=7X8=56 a&L5
HUTFOFINHHS 60T DB = 5x =5X 8 =40 a&15

HEOTEFEIF6UUSSHH60T 2 WD =2x =2X8 =16 @&

THSHEISSIL(D 7.1
053 v Q@ Weir agmlquinerg 3.8 15 x 2.5 15 X 1.6 15 eTediD Si6m6y & emer

2 _emLW. @HSHS OSMLIGWINETS 6T5HH6060T OILL[ H60or6v0l ] 61SMET(EBLD?
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< uLib 7.23
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lbr2 S BeaflliyseT emeubGD b OULiqwners 22 ags x 18 aslf x 10 ass
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7.5.2 senssgInsHSlenn seor derey (Volume of a Cube)

‘A oG USHS SieT6) OSBMEIIL QI HEUTF FHTSIHET HEOT SieTemeud

sneooTLg| eTaflneug). &He0T& OFeueuSHSS 60T Heor SenelDsnerr FHHHTsHHed ©

I=b=h=aeerl AxHuIL, B&EGSS H60TE FGHITHS 60T H6UT Di6TEUTEDT S| a’ seor
a

S0 GSHET 6T60TS HlewLHHME).
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h=6asb 18 Q1818

eTe0TB6Y, HEoTERFEUEUBSHS 60T 2 WITD 6 QFL5 S @LD. UL 7.27
s
o
18 655 x18 Q&1 siemeyeten b &I auqeudsmemen (Paper / Chart paper) erpdsis
QBITETETEYLD. SIHE0T 66UE1EUM(TH CLPeMEOUTDBHEID 6ET SieTesTer FHITL LGS &ensrT Hésab. DG

snarfled 2_6fer I LIL|&emeT LDIg.58 6 HDHS SHeTFagFaIeus ALY FLIWaD. NINg eelaau s
SHEOTEEFEU6USLI GILIL G UT6OT SH6TEYEHEMETILD QST (b&SSLILIL (hETT6T SiL L 6U6m6voTuled Gm&H&eaLD. GLoaid
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